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o 100
90
80
70
60
S50
40
30
20
10

Reco vertic

.....................................................................

.....................................................................

a

Ratio

0.95(

0.20

70 80 90 100
Simulated interactions

60

MatchedRecoVtx_vs GenVtx |

Matched reco vertices

Ratio

60

50

40

30

20

10

0.95(

%30

70 80 90 100
Simulated interactions

60

| Merged vs Closest

—=— DQM_V0001_R000000001__Global _CMSSW_X_Y_Z_ RECO

Merge rate

107" 1
Closest distance in Z (cm)

-2

Ratio

T —

BT S T e NN A

T S . 1 116 T O

0.14F oo S 11 T

0,125 g N L1 T
o5 S S b :

0,08

0.063— ------------------------ b

004—

A0 RS N ¥ O O I R
) SETE PSS A U TS P T
LRt o & ECEE
%50 —Zi.5 —:i_o 5 0 5

10



	Contents
	Page 1


